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II:13-11, par 4      
 We also know that U and p  form a relativistic four-vector. Since ρ and j depend 
on the velocity v exactly as do U and p , we can conclude that ρ and j are also the 
components of a relativistic four-vector. 
 
ρ and j  do not “depend on the velocityv as do U and p ”, due to the presence of of c2 in  the 
expression for U and its absence in the expression for ρ (see unnumbered Eqs. above and below 

Eq 13.34). Factors of 1/c and c are missing. When c ≠1 the 4-momentum is U c, p( ) , where 

U and p  are the relativistic energy and momentum, and the 4-current density is cρ, j( ) . 

 
 We also know that U c = m0c 1− v2 c2 and p  form a relativistic four-vector. 

Since cρ = cρ0 1− v2 c2 and j  depend on the velocityv exactly as do U c  and p , we 
can conclude that cρ  and j are also the components of a relativistic four-vector. 
 
 
II:21-13, par 5      
 We will soon show that A  and φ  together constitute a four-vector, like the 
momentum p  and the total energy U  of a particle. 
 
φ, A( )and ρ, j( )  are 4-vectors only when c =1 . Otherwise, they must be written φ c, A( )  and 

cρ, j( ) . (See other correction in this par and correction for II:13-11 par 4, above.) 
 
 We will soon show that (when c =1 ) A  and φ  together constitute a four-vector, 
like the momentum p  and the total energy U  of a particle. 
 
 
II:21-13, par 5      
 In fact, it is almost apparent from Eqs. (21.4) and (21.5) that A  and φ  are 
components of a four-vector, because we have already shown in Chapter 13 that j  and 
ρ  are the components of a four-vector. 
 
φ, A( )and ρ, j( )  are 4-vectors only when c =1 . Otherwise, they must be written φ c , A( )  and 

cρ, j( ) . (See other correction in this par and correction for II:13-11 par 4, above.) 
 
 In fact, it is almost apparent from Eqs. (21.4) and (21.5) that A  and φ c  are 
components of a four-vector, because we have already shown in Chapter 13 that j  and 
cρ  are the components of a four-vector. 
 
 



Errata for The Feynman Lectures on Physics 

03/13/20  3/5 

II:26-11, par 4      
 We know that the momentum is part of a four-vector pµ whose time component 

is the energy m0c
2 1− v2 c2 .  … This fourth component must equal the rate-of-change 

of the energy, or the rate of doing work, which isF ⋅ v . We would then like to write the 
right-hand side of Eq. (26.24) as a four-vector like (F ⋅ v ,Fx ,Fy ,Fz ). 
 
Factors of 1/c missing. When the interval is written ct, x, y, z( ) , as it is throughout this section, the 

4-momentum is E / c, p( )  whereE and p are the relativistic energy and momentum. 

 
 We know that the momentum is part of a four-vector pµ whose time component 

is the energym0c
2 1− v2 c2 divided by c. … This fourth component must be related to 

the rate-of-change of the energy, or the rate of doing work, which isF ⋅ v . We would then 
like to write the right-hand side of Eq. (26.24) as a four-vector like (F ⋅ v c ,Fx ,Fy ,Fz ). 
 
 
 
 
II:26-11, Eq 26.28      

fµ =
F ⋅ v
1− v2 c2

, F
1− v2 c2
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Factor of 1/c missing. (See correction for II:26-11, par 4, above.) 
 

fµ =
F ⋅ v c
1− v2 c2
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II:26-13, Eq 26.38 and following unnumbered Eqs     

ft = q 0+
vx

1− v2 c2
Ex +

vy
1− v2 c2

Ey +
vz

1− v2 c2
Ez

⎛

⎝
⎜
⎜

⎞

⎠
⎟
⎟,    (26.38) 

or 
 

ft =
qv ⋅E
1− v2 c2

 

 
But from Eq. (26.28), ft is supposed to be 
 

F ⋅v
1− v2 c2

=
q E+v× B( ) ⋅v

1− v2 c2
 

 
Factors of 1/c missing on the components ofFµν given in Table 26-1 corresponding to 
components of E. (See footnote on page II:26-13.)  
 

ft = q 0+
vx

1− v2 c2
Ex c+

vy
1− v2 c2

Ey c+ vz
1− v2 c2

Ez c
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or 
 

ft =
qv ⋅E c
1− v2 c2

 

 
But from Eq. (26.28), ft is supposed to be 
 

F ⋅v c
1− v2 c2

=
q E+v× B( ) ⋅v c

1− v2 c2
 

 
 
 
 
II:27-11, par 1      
 It’s angular momentum aboutP is thenmvrB . 
 
Grammatical error (It’s vs Its) . 
 
 Its angular momentum aboutP is thenmvrB . 
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II:28-9, Eq 28.15      
  

Aµ 1,t1( ) = jµ 2,t2( )∫ F s12
2( )dV2dt2  

 
Since (as shown, for example, in Eq. 28.14) (ct,x,y,z) is used for the 4-interval, cdt must be used 
for the time differential, not simply dt . 
 

Aµ 1,t1( ) = jµ 2,t2( )∫ F s12
2( )dV2cdt2  

 
 
II:28-9, par 1      

(The integral must, of course, be over the four-dimensional volumedt2dx2dy2dz2 .) 
 

See correction for II:28-9 Eq 28.15 (above). 
 

(The integral must, of course, be over the four-dimensional volume cdt2dx2dy2dz2 .) 
 
 


